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FE-FE-ER 5 JN-| HREE

WARF R 25 96 95 48 20 | 15746
— —— BYEER 15 133 130 65 20  156.34
THERETER 1 169 169 18 94 | 18486
REZH 30 134 133 83 16 | 147.20

REBEE &t 81 532 527 214 25 -
X=ZE 80 344 335 240 14 | 14723
E R 8 53 335 321 221 15 | 147.89
FEPE 32 263 257 138 19 | 15537
ESRREE 40 319 310 155 20 | 15802
BE-THIURE 20 237 236 38 62 | 17823

KF A&t 306 2030 1986 1006 2.0 =
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HEAE  SEEN 0 PREM 0 AanEYN  px OF

=IES
2848 50 40 20 20 149.37
HWARER 22
2A5H 28 22 13 1.7 145.86
2848 61 50 32 16 151.36
- . BYEER 16
RBEER BYREFH 2A5H 31 26 19 14 152.27
EHEFETER| 2H4H 15 106 85 15 5.7 182.62
2R4H 62 42 25 1.7 140.19
REZHE 20
2A5H 55 41 28 15 140.46
REEE 2R485 - 279 217 92 24 -
REFE 2A585 - 114 89 60 15 -
RRED & 73 393 306 152 2.0 -
2848 124 100 78 13 135.27
XE=FER 81
2A5H 114 95 78 12 | 135.18
2848 97 81 55 15 147.00
EEFEB 56
2A5H 127 96 68 14 | 14758
EHEFH 284H 20 85 54 20 2.7 157.01
2848 86 70 38 18 | 155.32
EDRREE 30
285H 78 63 28 23 | 156.26
o 2848 108 86 11 78 | 18229
BE-THAUEE 25
2A5H 125 98 15 6.5 182.00
K% 2848% - 779 608 294 2.1 -
K= 2A5H%F - 558 441 249 1.8 -
KE &% 285 1337 1049 543 1.9 -
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AR F R 3 14 10 3 33 | 11185
S I BYMFER 2 12 9 5 18 10118
R BUREFH THEREITER 2 18 18 2 90 | 12798
REZH 5 26 22 5 44 | 11267
KBEE &t 12 70 59 15 3.9 -
Pt 10 45 34 28 12 | 10246
EFRZFE 20 72 59 26 23 | 11035
BEFH 3 27 20 3 6.7 = 119.15
EDRREE 4 34 29 6 48 | 113.19
BE-THAURE 2 37 31 2 155 | 130.95
X2 At 49 285 232 80 2.9 =
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BEAE EREEH
[E3]o=ad 5 38 29 23 13 150.73
BE-THAUEE 5 3 2 2 10 129.70
XE &F 10 41 31 25 1.2 -
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AR R 5 58 58 33 18 63.8%
E— — BYEER 5 46 46 18 26 66.9% 610

EEXBETER 5 84 84 10 8.4 76.6%

REZH 10 99 99 51 1.9 64.4%
REBFE &t 25 287 287 112 2.6 = =
XEZE 35 261 261 184 1.4 60.3% 610
ER 280 22 218 218 176 12 572% | 710
BEPE 5 109 109 33 33 69.4% | 310

ESRREE 2 69 69 19 36 68.0%
BE-THAUEY 5 131 131 17 7.7 75.8% o0
KF A&t 89 1075 1075 541 2.0 - -
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REZH 2 8 8 4 20 68.6%
FBER 4 8 8 4 20 - -
XEFER 2 10 10 9 1.1 59.1% | 610
EREER 2 12 12 8 15 594% 710
KE it 8 30 30 21 14 - -
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AR R 10 31 31 31
BYMEER 10 22 22 22
REFH BYUREZHR
EERXETER 10 31 31 31
IR g 33 50 49 49
RBER & 63 134 133 133
XEZFE 70 101 101 101
EIFRZ2 5D 50 111 108 108
BEPY 20 40 39 39
ESRREE 40 62 62 62
BE-FTHAUZEY 10 56 56 56
RFE At 253 504 499 499
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WARFR 10 4 4 3
REFH | BEYREFH ﬁ%%ﬁm ° ’ ’ ’
EHRXETER 5 8 8 3
REZEH 15 6 6 6
RBFER &t 35 21 21 15
XEZE 20 4 4 4
E R AT 20 11 1 11
BHEPE 8 9 9 4
BE.-THAUEEY 8 12 12 6
RZE A5t 91 57 57 40
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|sern sman meay snsn|ssin 6
AR EF&| 0 0 0 |&F&| O 0 0
. BEMFEER EF4| 0 0 0 |&F4&| o 0 0
REEH  AMERER -
EERXETER EF&| 0 0 0 |&EF&| 1 1 1
REZH EF4&| O 0 0
RBER & #F4&| 0 0 0 |&F&| 1 1 1
XEZFER ET4| o 0 0 |&HF&| 0 0 0
E R AR ET4&| 0 0 0 |&F&| O 0 0
E=H el EF4| 1 1 0
ESRREER 2 0 0 0
BE-THAUEH 1 1 0 0 1 0 0 0
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|%$)\§ TEEN SHEN SNEN|BEAR SEEN SREN ARER
#WARZEH EF4| 0 0 0 |&EF&| O 0 0
KR . BYFER EF&| 0 0 0 |&FF4&| O 0 0
BYMERESH -
EERELTHER EF4| 0 0 0 |&EF&| O 0 0
RBER T4 O 0 0 |&F&| O 0 0
XE=FEB =FT4&| o 0 0 [&F4| 5 5 5
E R ER T4 o 0 0 |&EFT4| 3 3 3
BE-THAUEE 1 0 0 0 1 0 0 0
0 0 (1} 8 8 8
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HWARFEF - /NRX 13 31 30 28
BEYMEER - NRSC 2 0 0 0
REEED BYFREZH :
TEXETENR @E-/IAX 2 13 12 6
REZH EE-NAS 35 59 59 55
RBFED &t 52 103 101 89
XEFER += 50 58 58 57 57
ER R Eiff'jl’ 20 17 15 15
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BEFD H® = 10 35 35 35 14
EoRREE == 25 34 31 30 28
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BE-THAUREH EH-miE 20 58 58 20
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